






















Baseline year 2025

Field ID
2021 Irrigated 

Acres 2020 Irrigation Method
2021 Crop 

Type Calculation Factors

April 2021 
Acre Feet 
Applied

May 2021 
Acre Feet 
Applied

June 2021 
Acre Feet 
Applied

July 2021 
Acre Feet 
Applied

August 
2021 Acre 

Feet 
Applied

Septembe
r 2021 

Acre Feet 
Applied

October 
2021 Acre 

Feet 
Applied

2021 Total 
Acre Feet

2025 
Irrigated 

Acres 2025 Irrigation Method
2025 Crop 

Type Calculation Factors

April 2025 
Acre Feet 
Applied

May 2025 
Acre Feet 
Applied

June 2025 
Acre Feet 
Applied

July 2025 
Acre Feet 
Applied

August 
2025 Acre 

Feet 
Applied

Septembe
r 2025 

Acre Feet 
Applied

October 
2025 Acre 

Feet 
Applied

2025 Acre 
Feet

1-01 13 Pivot Alfalfa (20 sprinklers at 8 gpm, 50 PSI)* (x) days irrigated. 2.82 2.82 7.0707176 7.0707176 7.0707176 7.0707176 2.81 36.73287 13 Pivot Alfalfa (20 sprinklers at 8 gpm, 50 PSI)* (x) days irrigated. 0 1.4141435 4.9 4.9 4.9 4.9 2 23.014144

Totals 13 2.8 2.8 7.1 7.1 7.1 7.1 2.8 36.7 13.0 0.0 1.4 4.9 4.9 4.9 4.9 2.0 23.0
This row automatically calculates 70% of groundwater pumped in July-October and total in your baseline year. For a 2025 percent reduction LCS, this is the maximum water volume you may pump in July-October 2025 and total in 2025. 70% of baseline year water applied in AF 4.9 4.9 4.9 2.0 25.7
This row automatically calculates 30% of groundwater pumped in July-October and total in your baseline year. For a 2025 percent reduction LCS, you must decrease your groundwater pumping in July-October 2025 and overall in 2025 by these volumes. 30% Reduction Volume in AF 2.1 2.1 2.1 0.8 11.0
This row automatically calculates the volume of pumped groundwater you are conserving in excess of the 30% reduction requirement. Water reduced in excess of 30% need in AF 0.0 0.0 0.0 0.0 2.7
This row automatically calculates the percent reductions you are proposing for each month of 2025 and total for 2025. Percent Reduction 100% 50% 31% 31% 31% 31% 29% 37%
Other notes
2020, 2021, 2022, or 2023 may be used as a baseline year
The row "Totals" uses an Excel calculation ("=sum[cell:cell]) to automatically sum the cells in the column above it.
Please include useful information for verifying math. For example, 3/16 inch nozzle at 50 psi = 7.41 GPM
For example, 11/64 inch nozzle at 50 psi = 6.19 GPM
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